DIAPHRAGM VALVE

SCREW TYPE : JISI 40 (S)

e = = F

=

2 | ool colojma

3 | ool amy

4 | ool e

5 | 82 2=(Mg)

6 | B2A

7 | B8d Amy

g | =0 5=

9 | HM Amy

10 | 2HRE RE

11 | 2EM4)

12 | g¥zos 2

13 | 28

14| Yy

15 | = Ef0]g 7y

16 | =E(M3)

17 | 20 Wy

18 | 20 1z o

19 | B0 2E

20 | Elojg M

21 | B2H Y

22 | olojz ®

NO PARTS LIST

1 BODY

2 MAIN DIAPHRAGM

3 MAIN SPRING

4 MAIN COVER

5 HEXAGON BOLT(M8)
6 PLUNGER

7 PLUNGER SPRING

8 | CORE TUBE

9 | TENSION SPRING

10 | ROUND TUBE

11 | BOLT(M4)

12 | SOLENOID COIL

13 | CLIP

14 | COIL PACKING

15 | COIL TERMINAL COVER
16 | BOLT(M3)

17 | HOLDER PACKING
18 | HOLDER PACKING WASHER
19 | HOLDER BOLT

20 | TERMINAL SET

21 | PLUNGER PACKING
22 | AIR HOLE PIN

(20]
C€ : ®
®—. E
® . (1]
H';; . @
®
9]
Q °
0 .
. (6]
@ .
—0
—O0
. (3]
—©
@ ]
0

SINGLE DIAPHRAGM MODEL



SCREW TYPE : JISI 40 (D)

W 2 = g .

L | eA C€

2 | Biol crojojma

3 | ool Azmg

4 | 7 A .

5 | 82 2E(M8) 20 *

6 | M= crojojza

7 | MziE Any

g8 | Mz A (21} . .

9 | 82t 2E(M6) .

10 | =8~ 22 o .

11 | =2 Ay (23] .

12 | 30f g2

13 | HMH AzZE

14 | aec g8

15 | =2E(M4) ,—®
16 A 0|1E TY

17 | 3¢ ® .

18 | Y m

1o | Y Eold He (i 1) .

20 | EEM3)

21 | &0 .

22 | o Wz 94N

23 | B0 =2E (25 .

24 | EO/LME

25 | =2 mz

26 | olojz = —0

o—o

NO PARTS LIST

1 BODY

2 MAIN DIAPHRAGM o
3 MAIN SPRING

4 CONNECTION COVER

5 HEXAGON BOLT(M8) @ °

6 SECONDARY DIAPHRAGM

7 SECONDARY SPRING

8 SECONDARY COVER

9 HEXAGON BOLT(M®6)

10 PLUNGER

11 PLUNGER SPRING

12 CORE TUBE

13 | TENSION SPRING .

14 ROUND TUBE

15 | BOLT(M4)

16 SOLENOID COIL

17 CLIP d 9
18 | COIL PACKING

19 COIL TERMINAL COVER

20 | BOLT(M3)

21 HOLDER PACKING @ °

22 | HOLDER PACKING WASHER

23 | HOLDER BOLT 0—0
24 | TERMINAL SET

25 PLUNGER PACKING

26 | AIR HOLE PIN

DOUBLE DIAPHRAGM MODEL



22

SCREW INTEGRATED TYPE

ra =
Tolweio] I8 7

Clololmze £4 Lig2n 4 3oz
HMZE|0] ofist 229} S0z 4Tt
Diaphragm is made of special nylon and

special synthetic rubber which endurable in
any kind of temperature and conditions.

C€

SINGLE TYPE DOUBLE TYPE
| H
I
|
o w
s
}\
. ,T;_,
==o = <
of [l N\ -
A G
\ ! - e
C
p— _
[ é
u -
PT 3/8" TAP
w |
|
i Aasasilinall
peee S
s O
i :m t 'J
.G F
= DIMENSIONSmm)
CV OPERATING PRESSURE | ORIFICE Diaphragm | Weight
MODEL | trl7or VN e A B C D E F G H [ Ty (ko)
Jisl 20 143 05 8 PT 37 19 | 8 | 50 | 117 | 64 | 14 | 35 | 70 1 05
JISl 25 24.4 05 8 PT 1" 23 | 102 | 615 | 1274 | 80 16 3% | 70 1 0.75
Jisl 32 47 05 8 PT14” | 295 | 130 | 76 | 144 | 121 | 18 | 35 | 70 1 115
JiSl 40(9) 584 05 8 PT1%+” | 315 | 130 | 76 | 150 | 121 | 20 | 35 | 70 1 1.2
Jisl 40(D) 60.9 05 8 PT14+" | 315 | 130 | 76 | 186 | 121 | 20 | 35 | 70 2 14
JiSI 50 976 05 8 PT 2 40 | 185 | 111 |207.7| 167 | 28 | 35 | 70 2 25
Jisl 65 145.4 05 8 PT2% | 485 | 210 | 125 [2237] 190 | 28 | 35 | 70 2 36
JiSI 80 230.3 05 8 PT3 | 575 | 220 | 118 |[2526| 214 | 28 | 35 | 70 2 4.36




	조일기업카다로그_2011_종합.pdf



